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1.  다음 글의 주제로 가장 적절한 것은? 

 When a divorcing couple is unable to reach an agreement 

regarding the division of their property, they must allow a 

judge to determine its redistribution according to state 

laws. In most states, unless there is a prenuptial agreement, 

judges use the theory of equitable distribution. This means 

that they take into account all the assets and earnings 

accumulated during the course of the marriage. Then, they 

consider factors such as how much each spouse 

contributed either financially or to the care of children 

before granting each party a fair settlement. Courts in 

other states observe the theory of community property. 

Under this theory, everything acquired during the marriage 

belongs equally to both individuals and is divided as such. 

1 ①  The advantages of equitable distribution theory 
 ②  Two property division systems used by courts 
 ③  The reason not all states have the same laws 
 ④ Authority of the court in divorce proceedings 

 

 

 

 

 

 

 

2.  다음 글의 내용과 일치하지 않는 것은? 

 Consuming a large quantity of water in a short amount of 

time can result in a potentially lethal condition called 

hyponatremia. When this occurs, the kidneys are unable to 

work fast enough to remove the excess fluid from the 

body. As a result, the sodium in the blood becomes 

diluted. Like the kidneys, sodium plays an essential role in 

regulating fluid balance. Without enough of it, nothing 

will prevent the water from entering the body’s various 

cells, which will swell to accommodate its volume. While 

stretching will not create complications for muscle and fat 

cells, brain cells are different. This is because their growth 

is confined to the limited space of the skull. Their swelling 

can upset the delicate bodily systems and lead to seizures, 

strokes, or respiratory failure.  

2 ①  Blood with excess fluid contains highly concentrated 

levels of sodium. 
 ②  The kidneys and sodium both play a part in controlling 

the body’s fluid levels. 
 ③  The expansion of fat and muscle cells in the body will 

not prove lethal. 
 ④ It can be dangerous for too much water to reach cells in 

the brain. 

 

 

 

 

 

 

 

3.  다음 글의 내용과 일치하지 않는 것은? 

 A group of six astronauts recently completed a 500-day 

simulated round-trip mission to Mars. The objective of 

the activity, which was designed to last as long as an 

actual mission would, was to determine the effects of such 

a prolonged space journey on humans. Among the early 

findings revealed by the experiment is how conditions on 

the model craft affected crew members’ sleep patterns. On 

Earth, the regular exposure we get to the sun allows us to 

regulate our body clocks, but on a windowless vehicle 

bound for Mars, the crew has to rely on daylight 

simulated only by fluorescent bulbs. And unless the 

astronauts get consistent amounts of exposure to light 

from these bulbs in a similar pattern as the sun would 

provide, their body clocks soon fall out of sync, creating 

problems such as those experienced by the experiment’s 

participants. Of the six involved, one developed chronic 

sleeplessness while another became depressed. These 

problems caused the affected astronauts to become error-

prone when performing routine tasks.  

3 ①  Astronauts bound for Mars would get no natural 

sunlight. 
 ②  Conditions on Mars can influence the way the crew 

sleeps. 
 ③  The timing and amount of exposure to light are both 

important. 
 ④ Sleep deprivation can affect one’s ability to perform 

tasks. 

 

 

4.  빈칸에 들어갈 것으로 가장 적절한 것은? 

 Oftentimes, a seemingly unrelated and inconsequential 

problem in your body can indicate a much larger and 

serious issue. Cardiomyopathy, which is a disease of the 

heart muscle, is an example. In its early stages, it 

commonly manifests as tiredness and swelling in the feet 

and legs. Because such trivial complications are fairly 

common in most people, they rarely seek medical 

attention. This can be a deadly mistake because if 

cardiomyopathy is left untreated, it gets worse over time 

and may eventually lead to heart failure. Serious harm can 

be prevented through a variety of treatments by catching it 

early and stopping the disease before it progresses. This is 

why it is so important to ____________________________. 

4 ①  know how you can avert cardiomyopathy through 

treatment 
 ②  take the prescribed medication correctly and 

consistently 
 ③  confirm your diagnosis with at least two different 

doctors 
 ④ pay attention to even minor symptoms your body 

experiences 

 

 



 

5.  다음 글의 빈칸에 들어갈 가장 적절한 것은? 

 In May of this year, Philadelphia’s municipal government 

and railway company Amtrack congratulated themselves 

on a job well done fighting poverty. Together, they spent 

close to 300,000 dollars to have German artist Katharina 

Grosse “beautify” the decaying apartments and abandoned 

factories that line the railways running through the 

northern part of the city. Grosse splashed the neglected 

buildings with bright paint to “stir up a sense of life 

experience” in the passengers who are taken through the 

run-down neighborhoods on Amtrack’s trains. The 

project has been described by the media as a unique way 

of “fighting urban blight with art,” as if a coat of paint has 

any impact on the crushing poverty that underlies urban 

decay. The blight that Grosse so helpfully colored over 

remains a harsh reality for the area’s residents. All the 

project did was put a prettier face on the very ugly 

problem of inner-city hardship. 

  

 The art project has received criticism because ___________ 

_________________________________. 

5 ①  it claims to address poverty while merely masking 
 ②  it uses public money to fund a private train business 
 ③  it hired a German artist instead of an American one 
 ④ it unnecessarily drew attention to Philadelphia’s decay 

 

 

 

 

6.  다음 글의 내용과 일치하는 것을 고르시오. 

 Following a tragic ferry accident in April, South Korea’s 

GDP growth declined by as much as 0.3% from the first 

quarter when it was measured at 3.9%. At the time, 

domestic spending had deteriorated significantly because 

the nation was mourning and many festivals and tours had 

been cancelled. In an attempt to boost the economy, the 

South Korean government has unveiled a $40-billion plan 

that will offer support to small and medium-sized 

businesses and to promote consumption. This is the 

second stimulus package this year. The first, in April, was 

for $15 billion. The packages are part of an effort to 

ensure South Korea’s GDP growth will be able to recover.  

6 ①  South Korea’s GDP decreased by 3.6% during the first 

three months of the year. 
 ②  The government has spent a total of $40 billion in 

financial incentives this year. 
 ③  Korea’s GDP growth decreased after an accident 

dampened consumer spending. 
 ④ The recent package is necessary because the one in 

April proved to be inadequate. 

 

 

 

 

 

 

7.  다음 글의 빈칸에 들어갈 가장 적절한 것은? 

 Character is a respect for human beings and the right to 

interpret experience differently. Character admits self-

interest as a natural trait, but pins its faith on man’s 

hesitant but heartening instinct to understand and support 

others. Character is allergic to tyranny, irritable with 

ignorance and always open to improvement. Character 

implies the ability to laugh wholeheartedly and weep 

unashamedly. Character is, above all, a tremendous 

humility before the facts ― an automatic alliance with 

truth even when that truth is bitter medicine.  

  

 A quality of character not mentioned by the author is 

___________. 

7 ①  freedom 
 ②  patience 
 ③  sympathy 
 ④ humbleness 

 

 

 

 

 

 

 

 

 

 

 

8.  다음 글의 요지로 가장 적절한 것은? 

 As soon as we are born, the world gets to work on us and 

transforms us from merely biological into social units. 

Every human being at every stage of history or pre-history 

is born into a society and from his earliest years is molded 

by that society. The language which he speaks is not an 

individual inheritance, but a social acquisition from the 

group in which he grows up. Both language and 

environment help to determine the character of his 

thought; his earliest ideas come to him from others. As has 

been well said, the individual apart from society would be 

both speechless and mindless. The lasting fascination of 

the Robinson Crusoe myth is due to its attempt to imagine 

an individual independent of society. The attempt fails. 

Robinson is not an abstract individual, but an Englishman 

from York.  

8 ①  Every act determines our membership of the society. 
 ②  Society and the individual are complementary to each 

other. 
 ③  Language and environment determine our way of 

thinking. 
 ④ Human beings cannot live independently of society. 

 

 

 

 


